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BIE ROENSERLDES 24 20422295 19,023,045 93.1% 19 2 0 3
F2E EHUYELNGXLEEMEBTTLES 6 2,235,198 2,179,770 975% 4 1 1 0
HIF RETRELBNHLES 30 36,185,766 35.404.536 97.8% 25 1 1 3
BAT NCAMIRETSEDS 10 6,794,672 6,902,897 101.6% 7 0 0 3
BOE MREABALHLIZEES 9 830,546 795,245 95.7% 8 0 1 0
=) af 79 66,468,477 64,305,493 96.7% 63 4 3 9
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E1E EOENSERLDEDL 24 20,422,295 19,023,045 99.1% 19 2 0 3
E1H  RECROLTESEI MEBUHORELEEEED(YET 12 20,099,126 18,680,281 92.9% 8 1 0 3
1 R - E® 1 4,500,769 3,843,761 85.4% 0 1 0 0
2 78T 4 1444686 1,008,436 132.1% 3 0 0 1
3 AR AL 1 41,775 44493 106.5% 1 0 0 0
4 R L 2 13,089,058 12,113,671 92.5% 2 0 0 0
5 B E G 1 202,329 154,114 76.2% 1 0 0 0
6 AR - 0 2 814,044 610,846 75.0% 1 0 0 1
7 K= 1 6,465 4,960 76.7% 0 0 0 1
WOHT  BALGAMMERA BENSINEZFELERCET 4 65,625 63,636 97.0% 4 0 0 0
1 TELOHE 4 65,625 63,636 97.0% 4 0 0 0
BIE  AEANERNET. WENEL LEAESBEHAEOCYET 2 35067 31114 88.7% 2 0 0 0
1 HERE 2 35,067 31,114 88.7% 2 0 0 0
WA ELABROLTEC CENTEIBEEEYES 3 167,373 191,470 114.4% 2 1 0 0
1 A - 3 2 122,712 141,216 115.1% 1 1 0 0
2 HRAETE 1 44,661 50,254 112.5% 1 0 0 0
SOE  AEZEEL. HRETHMCEMLET 3 55,104 56,544 102.6% 3 0 0 0
1 MNE - BEERASE 2 41,644 43,186 103.7% 2 0 0 0
2 A 1 13,460 13,358 99.2% 1 0 0 0
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FT2F ZYUENEXEEEMEBLES 6 2,235,198 2179,770 96.1% 4 1 1 0
E1HEH  Ei XMEESEICRLSEHEDCYET 2 1848666 1,810,859 98.0% 2 0 0 0
1 =4 - X 2 1,848,666 1,810,859 98.0% 2 0 0 0

EOH  XIEMEELEHXEELOFEMLISEN LET 1 252532 242 250 95.9% 0 0 1 0
1 SACHE 1 252532 242,250 95.9% 0 0 1 0

B3  ELHLOHT [F50X) 2BHET 3 134,000 126,661 94.5% 2 1 0 0
1 XL alE 3 134,000 126,661 94.5% 2 1 0 0

B3E RETREZBNHDIES 30 36,185,766 35,404,536 100.4% 25 1 1 3
B1E  RETROLTELEDLFLEDCYFEY 8 1,659,710 1,455,760 87.7% 7 0 1 0
1 FEIE - HEh 2 71,925 43,356 60.3% 2 0 0 0

2 Y/ 3 1,458,905 1,315,875 90.2% 3 0 0 0

3 R 1 24,465 20,777 84.9% 1 0 0 0

4 TERS 2 104,415 75,752 72.5% 1 0 1 0

EOHT  BRELESLEXZ. BOBVHHERBELEEDLET 13 33,456,424 32,805,966 98.1% 10 0 0 3
1 AZNR—HLFHA Y 1 258,400 283,839 109.8% 1 0 0 0

2 HEE - B 2 1,193,837 231,905 19.4% 1 0 0 1

3 Tk 5 24429944 23,102,992 94.6% 4 0 0 1

4 e - S 3 128,554 102,849 80.0% 2 0 0 1

5 NI 2 7,445,689 9,084,381 122.0% 2 0 0 0

=340 %ﬁéfigéiﬁiﬁﬁaéfﬁbwt RSUROEREBABEIH o 604.230 602.930 99.8% 5 0 0 0
1 +H#0FI 2 568,000 559,478 98.5% 2 0 0 0

2 =8 3 36,230 43,452 119.9% 3 0 0 0

EAL EXEEEL. ENHIELEOCYET 4 465,402 539,880 116.0% 3 1 0 0
1 AL 2 37,482 27,100 72.3% 2 0 0 0

2 e ES 1 74,920 70,432 94.0% 0 1 0 0

3 KEE 1 353,000 442348 125.3% 1 0 0 0
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KOH EEH HEgE (FMA) RiEE (TM) BiTE A B C D
a b b/a (90mLLE) (80mUL £ (70mE £ (708 K7)
Q0AFm) | 80K
FL4E ANEBRDHEET D ED 10 6,794,672 6,902,897 93.0% 7 0 0 3
E1E BRERUICL. PILELBLOHIELEO(YET 4 328537 289605 88.1% 3 0 0 1
1 AR 1 8,101 5,361 66.2% 1 0 0 0
2 AE - Bt 2 320,436 284,244 88.7% 1 0 0 1
3 S - kil 1 0 0 - 1 0 0 0
B2 BRENOEROLGVELEOCYEY 4 267,484 235,142 87.9% 2 0 0 2
1 HRIR 2 103,296 74,415 72.0% 0 0 0 2
2 HSEIE 2 164,188 160,727 97.9% 2 0 0 0
HEIEi  EEVOREEMGLEREBEOESEOCYET 2 6,198,651 6.378.150 102.9% 2 0 0 0
1 EREER R 2 6,198,651 6,378,150 102.9% 2 0 0 0
ok MR ETHEDEDICECED 9 830,546 795,245 85.1% 8 0 1 0
B  HREAREDNS— I F—S Y TDEETEEED(YET 2 5538 4935 89.1% 2 0 0 0
1 il - TESM 1 0 0 - 1 0 0 0
2 BRORIE - 1244 1 5,538 4,935 89.1% 1 0 0 0
BT  EFHIKYOEHOHLOIAI AT EOCYET 1 3.000 1,764 58.8% 0 0 1 0
1 WHIZ 12T - TRED 1 3,000 1,764 58.8% 0 0 1 0
EIE  HERRCAESOLVFHBEREHELET 5 370,230 367433 99.2% 5 0 0 0
1 BUR BB 1 37,266 33,569 90.1% 1 0 0 0
2 AT 1 0 0 - 1 0 0 0
3 mO - AR 1 45,060 36,412 80.8% 1 0 0 0
4 AT 1 287,454 297,002 103.3% 1 0 0 0
5 IRBAT B 1 450 450 100.0% 1 0 0 0
BAH  BREERMERREFEOALISENLET 1 451,778 421,113 93.2% 1 0 0 0
1 B 1 451,778 421,113 93.2% 1 0 0 0
=) it 79 66,468,477 64,305,493 96.7% 63 4 3 9

R
<

IR—T




